Session 2020-21
MODEL QUESTION PAPER

SOCIAL SCIENCE (Regular)
Class : 10th

Time Allowed : 3 Hours Maximum Marks : 85

TRieneff Femva o vl H & SW R |

Candidates are required to give answers in their own words
as far as Possible.

TS U9 % 3 SHh T fRw T E
Marks allotted to each questions are indicated against it.
ICHERREN

Special Instructions :
1. 3T IcR-YRae o &7 T8 o W a1 IR KU T g7
I-79 9T 31ewd ford |

You must write question-paper series in the circle at

the top left side of the title page of your answer book.
2. Tl o I Id THA Sl YA A IIH-TF W SIE T ©, W
qieer R &t ye He feran it

While answering your questions, you must indicate
on your answer-book the same question number as
appears in your question paper.

3. SW-YRe & o= § @eft I=1/9- 7d Bifed |
Do not leave blank page/pages in your answer-book.

4. R g tfard € 1 oAl g2 < T ¥

All question are compulsory. Internal choice has been
given.
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5. ¥ T 1 W 16 TS 1T ¥ FE 12 T F €,
Yok G Ueh 37k 1 ¢ |

Question numbers 1 to 16 are objective type. Any of

these 12 questions have to be done, each question is
of one mark.

6. T TEA 17 § 28 7 A A STWA S 1 TTH T T 9 WA
F T, T 99 < ek 1 T, o 3 30 vl 4 sfereh
BRI
Question number 17 to 28 are very short answer type

questions of 2 marks each. Any of these 9 questions
have to be done. Answer of these questions should

not exceed 30 words each.
7. T EEN29 V40 T ST T E, TTH A RE 9O THA FA |
Yook T i 37k o1 &, TSTEeht 3T 50 9 60 ST H T

Question numbers 29 to 40 are short answer type
questions of 3 marks each. Any of these 9 questions
have to be done. Answer of these questions should
not exceed 50 to 60 words each.

8. Uy T 41 9 42 e 390 § 1 e Y 5 3k w1 & SR
I 100 T 120 VK| ok SIS0 |

Questions no. 41 to 42 are long answer type questions
of 5 marks each. Answer of these questions should

not exceed 100 to 120 words each.
9. U HE&A 43 W 44 3fq <" 90T ¥, T UH 6 Ak w ©
TSt TeRT ST 120 | 150 WI=a) aeh ST

Questions no. 43 to 44 are very long question of 6
marks each. Answer of these questions should not
exceed 120 to 150 words each.
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10. U §@&A 45 (F) AHAFGT &7 S ok 3 37! o0 &, TS99 ol
G foran T T SR TR W@ 45 (@) 3 3Rl A T AR T
i | T 7o § | X U TR I ST I IR o o=
Y |
Question no. 45 (A) is map question of 3 marks from
geopgrahy and question no. 45 (B) is also of 3 marks

from history. Attach the filled up maps inside your
answer book.

TS U9 (YT W& 1/ 16 ), g 12 T HL |
Objective type questions (Question No. 1 to 16). Do

any 12 questions. 12x1=12
1. 'Sga A S a2
Who was “Giuseppe Mazzini” ? 1

2. ' OTEHA HEEE" IR S UgT?
When did the “Simon commission” reach India? 1

3. BUEM 1 AR Y T8l fohd <9 H g2

Which country was the first to start a printing press?

1
4. TE 7% T YR 1 THIEE 77
What type of resource is iron ore ? 1
5. Y9 1 ITURA G &9 H YR § gl fopan s €2
Where is rubber produced mainly in India ? 1
6. fgdta fava g5 e Y& got?
When was the world war II started ? 1

7. TSt &9 &1 987 3 M T 87

What is the main objective of the Private Sector ? 1
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8. Tadsr =mar =1 == 219 &2

What is the meaning of foreign trade ? 1
9. rehad T e T2

What is the meaning of democracy? 1
10. TG 1 g Th AT HRO ford |

Write any one human cause of landslide. 1
11. N.C.C. &1 qU M sal?

What is the full name of NCC ? 1
12. 9RA Sl SAFIeh TS fRy el T &2

Who is called the electronic capital of India ? 1
13. TogeR! sticier fohem =@ «a1?

Who started the Chipko movement ? 1
14. GDP &l QU M Faisil |

State the full name of GDP. 1

15. T % SR I Tk ATY Tl |
Tell one advantage of Power Sharing. 1
16. HSUT i Ho TgCll qehiieh Tohd Q3N H [eh Ed G387
Which countries developed the first printing
technology ? 1
3fet T I U9 (W9 h¥ich 17 | 28 ) Thig 9 UIA e |

Very short answer type questions (question no. 17 to
28), Do any 9 questions. 9x2=18

17. QrgHA HHIIM 1 TSH Fl Tohar T2

Why was Simon Commission formed ? 2

18. TSRO § N I §?
What does globlization mean ? 2
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19. forea =t Afeen S 7 feaf St Feil W 9t il fore?
Why did British female workers attack spinning
Jenny machines ? 2

20. HETEAT & SO A @ Y 72
What is meant by conservation of resources ? 2

21. 9RA &I Sa-fafae Fi &fd Tgam ae 87 %R RF-hiH
g 7?2
What are the main factors that damage India’s bio-
diversity ? 2

22. AT H o Tl fhT TR TelehLor 9 TEmee g2
Explain how water becomes a renewable resource ?

2

23. Tgeftoek &= | == sty €2
What does secondary sector mean ? 2

24. SR HEA F 3T F1 THEA & 2
What do you understand by Multi-National company?

2

25. ¥ feue T fordl ed §72
What is a secular state ? 2

26. TeeRT U9 o IR H wHiww feuqoft fafem |
Write a short-note about Gutenberg-Press. 2

27. ‘@IS wE e’ wE § @ e §2
What does ‘search and rescue’ work mean ? 2

28. AfH-TReN & fau forddt What Jorem & @1 Fded §7
What are the duties of a school-management for fire
sefety ? 2
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Y 3T U9 (UF h¥ich 29 | 40 ) g 9 UIA He |

Short answer type questions (question no. 29 to 40),
Do any 9 questions. 9x3=27

29.

[fgTT 3Te-T e 9 = ifyygrg &2

What does Civil Disobedience Movement mean ? 3

30. 9I2A g9 THS o 1 31 §2

What is meant by the Bretton Woods Agreement ? 3
31. TR M St A AR Hl wal TR WS w ASE e

stfvreafad, I9 iR wmfesar & fau oeE €2

Why did Mahatma Gandhi say that the fight for

Swaraj is actually a fight for expression, press and

collectivity ? 3
32. HETHAT % T AT B § 2

What are the main characteristics of resources ? 3
33. @ig IR o7cie @fiel § iR T e |

Distinguish between ferrous and non-ferrous

minerals. 3
34, STYR d ST F &7 AR R TG 1 STERYA ST =41

HET I &7

What is the basic industry ? Why iron and steel are

called basic industries ? 3
35, SATIR 3TaRIH 91§ ?

What are trade barriers ? 3
36. Gell ISR 3R Y= SRS & o= fa9g sifs |

Distinguish between open unemployment and

disguised unemployment. 3
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37.

38.

39.

40.

ARYaTE k1 1 1Y § 2 TRIEmE A A 972

What does feminism mean ? What were the feminist

movements ? 3

foRdl ot THiTaeh 3 o 9 T[O1 BId B 7

What are the qualities of any Political Party ? 3
YA o T RO FA GU, THoh THH 1 0 h |

Describe its impact by giving three reasons for

tsunami. 3
HEIRI0H RS H g8 U101 Bl 1 KA T T8l foha ST
Teh!? 39 faIT ST 9= ek ddsy |

Why could not the loss of life in Kumbakonam fire be

reduced ? State the five factors responsible for this.
3

el ST U (U hHih 41 ¥ 42)
Long Answer type questions (Question No. 41 to 42)

41.

5x2=10

T i Wit o fore Sugea siiiifers uRkfeefast s aof L |
5

Describe the geographical conditions required for the
growth of rice.

Y41/ Or
% 1 i & faw stpe iiiferss aftfeafaat on saes faao
1 U hIfIT |
Describe the favourable geographical conditions for

wheat cultivation and its distribution.

YA/ Or
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THIYAT o HI&T0T i STEYIehdl ol faa=mT Sifsa |
Describe the need for conservation of resources.

42. IR0 T FITE Teh THM &1 & | T HY i ST ST |

The effect of globalization is not the same. Explain
this statement. 5

1@ / Or
YRUIar 1 fowe foema & fore «=&1 wegut 872

Why is the issue of sustainability important for
development ?

AYar / Or
STARA | qdldeh & o 9¢d Hed i AR i |

Explain the increasing importance of tertiary sector
in production.

3rfa et -Sedia U9 (U9 hiich 43 4 44 )

Very Long aswer type questions (Question No. 43 to
44) 6x2=12

43. ST9 IMEF a1CT &3 H IMEA Few hl AR FIA I h
feTq aifersm = = sgere fee?

What change did Napoleon introduce to make the

administrative system more efficient in territories
ruled by him ? 6

AYd1 / Or
TRTHE! o RO hi ST Hh |
Explain the causes of the Great Depression.
3941 / Or
Teo! favd g5 & 999 uRa 1 ST IR Fii agl?

Why did industrial production in India increase
during the first world war ? 6
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44. WA i ety e § afcsad 9 fHerd-Serdt T forere
R 3TY 37T T oo 1 s |
Point out one features in the practice of federalism in

India that is similar to and one feature that is
different from that of Belgium.

3d1 / Or
St @ 34 faf= Jeqel o1 S 3 9 9Ra ° ot &
Y Y3 T § A o FEIR feafd § et €
Mention different aspects of life in which women are
discriminated or disadvantaged in India. 6
3Yer / Or
Wik fopt fearfaat & wrfsrer fafaerar 1 durerar € X
3h S WA ST &2

What are the conditions under with democracise

accomodate social diversities ? 6
45. Tehdl ol FAN hId gU F=fafad i YRa/fava & aHfas |
IRy :
(%) YRT ok HHfEA | 3
(1) =MF IAEH 3 T (2) TTEIH
(3) et = iR ufert =1
(@) fava & gHfaa
(1) ®iE (2) dicie (3) ST9HE
Fill the following in the map of India / World using
symbols :
(a) In India’s Map
(i) Tea Producing two states (ii) Rajsthan (iii)
Eastern Ghat and Western Ghat
(b) In world’s map :

(i) France (ii) Sri Lanka (iii) Japan 3
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